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1.
At the height 80m,an aeroplane is moving with 150 m/s . A bomb is dropped from it so as to hit a target. At what distance from the target should the 
bomb be dropped (take g = 9.8m/s2) 

(a)605.3 m


  
(b) 600m


  
(c) 80m



(d) 230m 
2.
A cricketer hits a ball with a velocity 25 m/s at 600 above the horizontal. How far above the ground it passes over the fielder  50 m from the bat  


(a) 802 m


  
(b) 9.0 m


 
(c) 11.6 m



(d) 12.7 m

3.
A stone projected with a velocity u at an angle θ with the horizontal reaches maximum height H1. When  it is projected with the velocity u at an angle (π/2 - θ ) 
with the horizontal , it reaches maximum height H2. The relation between the horizontal range R of the projectile, H1 and H2 is
   
(a)R= 4√H1H2

  
(b) R= 4(H1-H2)


  (c) R= 4(H1+H2)


(d)R=H21/H22.

4.
A body is projected horizontally from a height with a speed 20 m/s. What will be its speed after 5 secs (take g = 10m/s2)



(a) 54 m/s


  
(b) 20 m/s


  
(c) 50 m/s



(d) 70 m/s

5.
A ball hits at 450 to the horizontal with a K.E. EK. The K.E. at the highest point is 




(a) EK


  
(b) EK /2


  
(c) EK /√2



(d)0


6.
A body is projected with a velocity V = (3i + 4j) m/s. The maximum height attained by the body is  (take g = 10m/s2)



(a) 0.8 m



(b) 8m


  
(c) 80m



(d) 800 m

7.
Two projectiles are projected from the same point with the same speed at angles of projection 600 and 300 .Which one of the following is true?


(a)Their maximum height will be same


  
(b)Their range will be same
 



(c)Their landing velocities will be same



(d)Their time of flight will be same



8.
A particle is kept at rest at the top of a sphere of diameter 42 m. When disturbed slightly, it slides down. At what height h from the bottom , the particle will leave 
the sphere



(a)14 m


  
(b)28 m


  
(c) 35m



(d) 7 m

9.
An object is projected with a velocity 20 m/s making an angle of 450 with the horizontal . The education for trajectory is h = Ax – Bx2 , where h is height , x is 
horizontal distance , Aand B are constants. The ratio A:B is  




(a)1:5


  
(b) 5:1


  
(c) 1:40



(d) 40:1

10.
A man is standing on the roof of a house of height h throws one particle vertically downwards and another particle horizontally with the same velocity u. The 
ratio of their velocities on reaching the surface of earth will be 


(a) √ (2gh+u) : u2


 (b)1:2


  
(c)1:1



(d) √(2gh+u2): √2gh

11.
A particle of mass m is projected 
with the velocity v making an angle 45 with the horizontal. The magnitude of the angular momentum of the particle about the 
point of projection when the particle ifs at maximum height, is 



(a)m2gh3


  
(b)mv2/√2g

 
(c)mv3/4√2 g


(d)0

12.
From the top of a tower, a particle is projected with the velocity of 19.6 m/s at 60 with the horizontal. If g = 9.8m/s2, the particle will move at right angles to its 
initial direction of the motion after a time of 




(a) 1 s


  
(b)4 s


  
(c) 6 s



(d) 8 s

13.
An artillery piece which constantly shoots its shell with the same muzzle speed has a maximum range R. To hit a target which is R/2 from the gun and on the 
same level , The elevation angle should be 




(a) 150


  
(b)450


  
(c)300



(d)600.

14.
Two projectiles are launched at 100 m/s, the angle of elevation for the first being 30° and for the second 60°. Which of the following statements is false?


a. Both projectiles have the same acceleration while in flight.

b. The second projectile has the lower speed at maximum altitude.


c. Both projectiles have the same range.



d. All of the above statements are false.

15.
A boat moves through the water in a river at a speed of 8 m/s relative to the water. The boat makes a trip downstream and then makes a return trip upstream tom 
the original starting place. Which trip takes longer?


a. the downstream trip


b. the upstream trip


c. Both trips take the same amount of time.



d. The answer cannot be figured without knowing the speed of the river flow.

16.
Plane A is flying at 400 mph in the northeast direction relative to the earth. Plane B is flying at 500 mph in the north direction relative to the earth. What is 
the 
speed of Plane B as observed from Plane A?


a. 900 mph



b. 640 mph


c. 357 mph



d. 100 mph

17. 
Plane A is flying at 400 mph in the northeast direction relative to the earth. Plane B is flying at 500 mph in the north direction relative to the earth. What is the 
direction of motion of Plane B as observed from Plane A?


a. 52.50 N of E


b. 52.50N of W


c. 37.50N of W


d. 36.90N of W

18.
A stone is thrown at an angle of 30° above the horizontal from the top edge of a cliff with an initial speed of 12 m/s. A stop watch measures the stone's trajectory 
time from top of cliff to bottom to be  5.6 s. What is the height of the cliff? (g = 9.8 m/s2and air resistance is negligible)


a. 58 m



b. 154 m



c. 120 m



d. 197 m

19.
A stone is thrown with an initial speed of 15 m/s at an angle of 53° above the horizontal from the top of a 35 m building. If g = 9.8 m/s2 and air resistance is 
negligible, then what is the magnitude of the vertical velocity component of the rock as it hits the ground?


a. 9.0 m/s



b. 18 m/s



c. 26 m/s



d. 29 m/s

20.
A bridge that was 5.0 m long has been washed out by the rain several days ago. How fast must a car be going to successfully jump the stream? Although the road 
is level on both sides of the bridge, the road on the far side is 2.0 m lower than the road on this side.


a. 5.0 m/s



b. 7.8 m/s



c. 13 m/s



d. 25 m/s

Answer Sheet:    

                         1.(a)  (b)  (c)  (d)
     6.(a)  (b)  (c)  (d)
 11.(a)  (b)  (c)  (d)
           16.(a)  (b)  (c)  (d)


       2.(a)  (b)  (c)  (d)
     7.(a)  (b)  (c)  (d)
 12.(a)  (b)  (c)  (d)
           17.(a)  (b)  (c)  (d)


       3.(a)  (b)  (c)  (d)
     8.(a)  (b)  (c)  (d)
 13.(a)  (b)  (c)  (d)
           18.(a)  (b)  (c)  (d)


       4.(a)  (b)  (c)  (d)
     9.(a)  (b)  (c)  (d)
 14.(a)  (b)  (c)  (d)
           19.(a)  (b)  (c)  (d)


       5.(a)  (b)  (c)  (d)            10.(a)  (b)  (c)  (d)
 15.(a)  (b)  (c)  (d)
           20.(a)  (b)  (c)  (d)
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